&L pale

ol

1223 — 92 — 57x+ 54
3x— 6

6x° + 14x% — 18x
2x

24x3 + 782 + 82x + 63
4x+ 9

50 + 322 + 6x
X

10x2 — 49x + 49
5x—7

Al

423 — 4222 — 30x
6x

24x3 — 732 +40x— 6
8x—3

183 + 3622 — 11x+ 56
3x+ &

16x2 — 74x + 63
& —9

7222 — 19x — 40
9x— 8
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&L pale

ol

1223 — 92 — 57x+ 54
3x— 6
b +5x—9

6 + 142 — 18x
2x
3x2 +7x—9

24x3 + 782 + 82x + 63
4x+ 9
6> + 6x+ 7

50 + 3% + 6x
X
5¢ +3x+6

10x2 — 49x + 49
5x—7
2x— 7

Al

4253 — 422 — 30x

6x
e —Tx—5

24x3 — 732 +40x— 6
8x—3
33 — 8x+2

183 + 3622 — 11x+ 56
3x+ &
6> — dx+ 7

16x2 — 74x + 63

8&x—9
2x—17

7222 — 19x — 40

Ox — &
8+ 5
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